
MA 15910  Exam 1 Answers, Fall 2014 

 

Problem Form A Form B  Actual Answer     
    1)  B.  C.   I only 

    2)  D.  A.  1

2
 Domain , ,  Domain ( , 5) ( 5, )f g       


 

    3)  E.  D.   3 27 23 19 7x x x    

    4)  A.  A.   
6

2 2

n

n




 

    5)  C.  C.    

    6)  E.  E.   None of the above. 

    7)  A.  B.   3 22 11 30 32x x x    

    8)  B.  D.   
51

29
x   

    9)  E.  E.   There is no solution. 

   10)  D.  B.   50 minutes 

   11)  A.  E.   1

5
1  days  

   12)  B.  A.   
30

2
2x     

   13)  E.  D.   
4

3
, 5n    

   14)  D.  A.   width:  15 inches 

   15)  E.  A.   0.3 0.7(20 ) 12x x    


